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SVaM7: (1) SAdadgy afarbsgpe sMwis Sial vdand o dmaan adusmad sPUIisgHbH

Asadiatae. Sidauubald® @D HORE Simndé savsr@PourmPLE 2 Loty wissd
ApPalésa).
(2) i MRy amiy moudmar wCECW AUYHIMUSDHE lubCarnBusnmt vwaEubsHs
Cauan@l. uLmisdr amgagHE MUEPD UWEIURHSHD.
Instructions: (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and underline and pencil to draw diagrams,
BVIY : Basadardsia B, ugSsmatd NBIETL g).
Note : This question paper contains four parts.
' u@#H — 1 / PART -1
(pFliauedraar : 12) / (Marks: 12)

Uy : (i) Soarsy afarrdasgéenhd af@Lwaldsn|b. 12x1=12

(i)  Pasayd Aurgiswiar damLwaas CoibNsBss Msar BPWLBLE afmLuimayi

aQsa|k. ;

Note: (i) Answer all the questions.

(ii) Choosc the most suitable answer and write the code with the corresponding answer.
. ysimily PE6sD g-ulsT SIG MS > Syeib. dpbangmid SlGoaled G5 HE FONEGL?
&) cms’! &) Nkg'! ' & Nm? kg

™ cm s~
The unit of g is ms™. It can be also expressed-asi. i
a) ems! b) N kg™ ) Nm?® kg d) em? 52
2. #@eon eunL wetofll eTelTUE ETHENIEMLI SEDE?
&) Wlelr memL eTenor &) e sLEG Hmedr &) Wletr SLHMEd ) Wlelr Bmebr
Kilo watt hour is the unitof ................... _
a) resistivity b) conductivity ¢) electrical energy  d) electrical power

3. yomGemi Aésensuled LwETUGLD sffwss eGenGLNY
&) CuyBuwn SiBwngen &) CrpGwn Gsmunedr &) CupBwn sniush

™) GueGuwin Bémed
...................... isotope is used for the treatment of cancer.

a) Radio lodine * b) Radio Cobalt ¢) Radio Carbon d) Radio Nickel
4, GSo@®-Be L6 GATUET FHEIBHD ..oovvrerreererranias :
&) 0.25 - 2% &) < 0.25% &) 2-4.5% m 5 - 6%
In wrought iron with percentage of carbon is .........c.......... )
a) 025 - 2% b) < 0.25% c)2-4.5% d) 5 - 6%
.5, SLpbeaILOUNMIET e1g sieush SeILUNEN eTeTuLGEEDg?
&) S CLnedr &) Guesnd et 8) b M) SpedsamneD
Which of the following is the universal solvent?
a) Acetone _ b) Benzene ¢) Water d) Alcohol
6. g ofw Conwsdear IUPAC quwr 3-0wgde SuyrLem-1-Sp0 B abp cuenss Gsmob?
&) Epedgenan® &) enunsdlells Sifleow &) EeGner m) Shedsamnned
The IUPAC name of an organic compound is 3-methyl butan-1-ol. What type compound it is?
a) Aldehyde b) Carboxylic acid - ¢) Ketone d) Alcohol

7. dgu apndl Bmie menLeunBnE.

&) usmseisD &) eowrCunasnerudwneler 2 LugS

&) unsCaned giemen m) eowrGLnsnssofwnelar £ LUDg seuey
Kreb’s cycle takes place in ....ccceeveeeneen. .
a) chloroplast b) mitochondrial matrix

¢) stomata d) inner mitochondrial membrane
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8. appw NEOHUSLW praupmseisd SemGall aaaams asoelddbe 2-@anEDH?
&) e Hudd Qaed &) L Qe
8) weIBEEENE SN Qs ™) WDEIHSHHTEN
Male gametes in angiosperms are formed by the division of .......
a) Generative cell
¢) Microspore mother cell

b) Vegetative cell
d) Microspore

= T dnbgsnd whnb sodyelod updng.
&) Awib &) UnBpsLD 8) Gsrilwid ™) @Gyl
...................... accumulates in kidney and liver. :
a) Lead b) Mercury ¢) Cadmium d) Chromium
10. Gpereft semybast snexLGL SLb
&) semsaen &) ShEsneTsE 8) LTI BEeT ) enEFLLITET
Node of Ranvier is found in .....cco..evveerreeenennes . ;
a) muscles b) axons ¢) dendrites d) cyton
. QN & uIfWellsdr WPHETEDD BEBE <..vcvreverrerererireeeen. BLRIGHT OBILAUNCTE SHGLD.
&) SletLgEed o ulimer snngsug,pgrﬂw &) Ganedigeons
&) ysfluwed FF) GUETDTL 6D
The major concept in astrobiology is the ...................... Zone.
a) habitable b) goldilock ¢) geological d) sedimentary
12, £ 08 ysoswiens edmuy e .
&) Guw 31 - &) et 6 &) gupged 22 m) SisGLnur 2
World *No Tobacco Day’ is observed on
a) May 31 b) June 6 . c) April 22 “d) October 2

ugsl — 11 / PART - 11
(Hiauarsar : 14) / (Marks: 14)
BPOY: aautumyid gy Fannssass afacwalssao. [afan aan 226664 sLLIWWIS
aPemLwelE50]0]: _ 7x2=14
Note: Answer any seven questions. [Q.No. 22 is compulsory]
13. eflwn? saumn? (seum) eafied spriear Sbses.)
&) Buss Benouled 2_een UGS SWH Swbs B LMHDSHMS eTHTHBGD Ut Busssde
BeneoLod eTeTlL(BLD.
&) gasr Seowllio gnuGL CriGamn( 2.how auGuUngb WwrHeunED.
State whether the following statements are true or false. Correct the statement if it is false
a) The resistance of a body to change its state of motion.is called interia of motion.
b) The linear momentum of a system of particles is always ‘conserved.

14, QUNGHEIS: .
QaupenGs BaneT

1. Ber enis Senesst - A

2. Ggunm - b. enflér Geuald

3. Genemnm - C. SLsnu efned

4. GpeBun Sieneset - d. sLeé eunp eflmiGEeT

Match the following:

]. Electromagnetic waves - a. Satellite
2. RADAR - - b. Speed of the car
3. SONAR - ¢. Aircrafts
4, Radio waves - d. Marine animals

15. eflenben SLHDD ETEDIED ETeTen?
What is stellar energy?
16. Eadmy LOHOID &NJEGOILD:
sapmy (A)  : ewseffwsens Bl Sa yaeausned, HGIIRSSOmHE uny&nm,uu@eﬂp@
sngeomd (R) : ewseafdwd, Emwenuei eflemaryfiud HeTemLd LlbBH.
&) BapD BngewTipd SflwneTg. SNYEwILD tapenm KenG efendGEng.
&4) Bapmy &l ENpesOTID BHEUMY.
8) sapm seum. sngeood sl
1) Babmb ENPETIUPLD &l SN HNPEWILD SaDewD EAENSEEIEMDED.
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Assertion and Reason:
Assertion (A) @ Magnesium is used to protect steel from rusting.
Reason (R) : Magnesium is more reactive than iron.
a) (A) and (R) are correct. (R) explains the (A).
b) (A) is correct. (R) is wrong.
c) (A) is wrong. (R)is correct,
d) (A) and (R) are correet. (R) doesn’t explains (A). .
17, Bar wpm Wenn eflemensemen GeumuGHis.
Differentiate reversible and irreversible reaction.
18. Rh anpeciewd s gibgseut wii? Sig g6r Seiaunn OpssuuGEns?
Who discovered Rh factor? Why was it named so?
19. SUANs Ofesfedr gEHED B QIPEILED EHEE|EEDETS HBE.
Bring out any two physiological activities of abscisic acid.
20. yeos £ uiml ugeurseladT ENHems eeleunnl SHUHEI Quneem SweyLd?
How can you determine the age of the fossils?
21. LEINMEANWED LDEHHEIGET ETETDNED ETeTeT?
What are psychotropic drugs? :
22. anegde Wlenened gHuBL 9.8 eNETTREEHESU Bery SGwnens GaLdmgl. snhmiled eeSludsi
 BensBesusld 300 Bei~! erefied GoomLLRIGS aeleuame) 2 WIHHed Leneng? _
The thunder of cloud is heard 9.8 seconds later than the flash of lightening. If the speed of sound
0 ms™', what will be the height of the cloud? :
uasd — 111/ PART - 111

in air is 33
daauCwmt gy Farrésmss af@Lwaldsa)b. [@Pqrn adnm 32é@é slL

muwTse

SYoY:

aPea L waldsayd] 7x4=28
Note: Answer any seven questions. [Q.No. 32 is compulsory]
23. &) s CrrésulsT QENEGEETE &aDIb.

&) eeulu Sybmed wnhmsBSer Uy SILDEFFRIGET WNemneu?
a)  Write the types of telescope.
b)  What are the characteristic features of heat energy transfer?

24. &) euspwm - @O €9
&) Lnoem efemenefler snriliuGHLD erElEUENGUID BmeeL?

a)  State Ohm’s law.
Write the various possibilities of Doppler effect.

b)

25. &) &dlwussy QUNBETEEETS eEWNEhD GuIg 2 6o HEUY (PEDMSST WNEDEU?
&) SpuuenLd HiseTaeT e QUWITEEDETES Enmib.
a) Whatare the preventive measurcs while handling a radioactive material?

b)  Namesome elementry particles.

26. &) &owy pEOssRGENeT B BN ETOIMRIEEENS HHS.
&) nApw o Mlehsio GeriomissT aETDED ETETE? OB PHEL LLETIBEDET STLPEIS.
a)  State two conditions necessary for rusting of iron.

b)

27. ug eufleng aaD
What is called homologous series? Give any three of its characteristics.
WS GMIBEG aLEHBENDDSSE LLLD QUEDphE! UNSMSES G

Define hygroscopic substance. Mention its use.
e eretaor? g euflems Gamomisefiedn ApETDI UEDOTL|BEmENE T DI,

28, Baebhiomes HeN Eemen
Draw and label transverse section of dicot leaf.

20. &) o ta@iy wHnb eeuafbeoul - CoumjuBHE s
&)  SLosfloyEdr o peunew ApEOMIBET WiTemau? Sleun et ETELEUNTY EDEWINENEND?

a) Differentiate between in breeding and out breeding.
b) What arc the sources of solid wastes? How are solid wastes managed?
30. @CunGenGanbler Siemoliepull UL euemIbHE! UNBFIGesTEH GIlSSaLD.
Draw and label the structure of a chromosome. - '
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31 &)
&)
a)
b)
32. &)

&)
a)

bh)

By

Note:

33. &)

b)

34. &)

a)

b)

35. &)

a)

&)

b)

4 ) S

QD 2oL maddixm gnUGD Seniowne eflemeneywer winemeu?
cefw ELGLrafa@r QuLEILD ApPObEaT QIMLUNLEDLLD 61LpEHID.
What are the harmful effects of alcohol to health? .
Name the simplest ketone and give its structural formula.
100 &. il 20 &. NaOll-m sevpig gm seopesd punlésiuGEng:. Slgpen semgeLneher "
feom seebmmhenmi, e,
Salpefe o der opels Sawenub nreores.
A solution was prepared is dissolving 20g of NaOH in 100g of water. Calculate the mass
pereentage of solute. n
Find the mass percentage composition of methane CH, .
 us#H - IV/PART -1V
(1) s>asgy afanssmagnt odacweldsa|,
(1) gaNang afanafhge gy wHTAUITIET,
(111) Cormawaat SLmsald ULl ums. . 3x7=21
(1)  Answer all the questions.
(i) Each question carries seven marks.
(iii) Draw diagram wherever necessary.
1) 2 ks wipné GamuntenL smml Slgenan ALWUNES.
i) sre Qeulu efleneney eflfemwsH Hrned.
i) ergagnellenwi wETUGSS gellulen BensGaundhansd SNETIS.
i) State and prove the law of conservation of linear momentum.
i) Derive the expression of Joule’s law of heating.
iii)How can you calculate the speed of sound using echo?
(@es) / (OR)
i) esooas gathamsd CombnelésiuBhd TIDUMRSELHETET EHSSEneT SHM LL RS EF. 6
eflengEs.
il) srGUUESSLLLL LHOID SLEUUTLDD OZNLT eflenareml ciemsEs.
i) Explain the rules for obtaining images formed by a-convex lens with the help of ray
diagram.
ii) Explain the process of controlled and uncontrolled chain reactions.
1) guy epossan Beopo@L SHef &Lﬁﬁﬁ&@m £_¢em QBNLMIene cudhes.
i) scpdpemer uNBaew engewiser UDH UL EeDTs.
i) Derive the relationship between Relative molecular mass and Vapour density.
i1) Write notes on various factors affecting solubility.
(&eeg) / (OR)
i) Gaus swbepe aaTDID eTeTe? SBET LESTILEST WNEDeu?
i) CH;=CH, -CH, -OH aamp Goiuwsdne OuuAGL weopsow auflevss Smowns
L.
i) What is a chemical equilibrium? What are its characteristics?
i) Arrive at systematically the [IUPAC name of the compound : CH; - CH, - CH, —OH.
i) denCured wonw arwenCLnd GanuBise.
i) pedrg. Senwuy aaann L geundueneng?
i) Differentiate between systole and diasole.
ii) How is the structure of DNA organised?
(@oog) / (OR)
i) @enLuld mepLound Sroeuwrddl Bapsdulear U SLpHS.
i1) gwetaasn. fenyaemn SHauier snpuuenLuiad asuenn CapuiGdamen?
i;i}A[[)S emeupeny aeueuny) &t uuuGEDg?
V) evdgnas ae@mmne eldrer?
i) How does locomotion take place in leech?
i) How are arteries and veins structurally different from one another?
iii) What are the diagnosis method of AIDS?
iv) What is Scratch?
(&2379]
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